

PO Box 93999 Southlake, TX 76092

Voice: (817 Fax: (817

(817) 546-7282 (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

INVOICE

Invoice Number: 141879
Invoice Date: Mar 11, 2014

Page: 1

Customer ID	Field Ticket #	Payment Terms		
Shak	61986	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS1-01	Oakley	Mar 11, 2014	4/10/14	

Quantity	Item		Description	Unit Price	Amount
1.00	WELLNAME	York #2-2			
175.00	CEMENT MATERIALS	Class A Common		17.90	3,132.50
3.00	CEMENT MATERIALS	Gel		23.40	70.20
10.00	CEMENT MATERIALS	Chloride	101	64.00	640.00
189.24	CEMENT SERVICE	Cubic Feet Charge	11	2.48	469.32
493.50	CEMENT SERVICE	Ton Mileage Charge		2.60	1,283.10
1.00		Surface V		1,512.25	1,512.25
60.00		Pump Truck Mileage		7.70	462.00
60.00		Light Vehicle Mileage		4.40	264.00
1.00	CEMENT SUPERVISOR	Kelly Gabel			
1.00	EQUIPMENT OPERATOR	Wayne McGhghy 10502 - 5	02 19 MAR 2 4 2014		
		Aw	DESTRUCTION OF THE PROPERTY OF	* Annual Company	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

5

1,958.34

ONLY IF PAID ON OR BEFORE
Apr 5, 2014

Subtotal	7,833.37
Sales Tax	313.18
Total Invoice Amount	8,146.55
Payment/Credit Applied	
TOTAL	8,146.55



ALLIED OIL & GAS SERVICES, LLC 061986 Federal Tax I.D. # 20-8651476

REMIT TO P.O. B				SE	RVICE POINT:		
SOUT	HLAKE, TI	EXAS 76	092			Oak!	EVIRS
DATE 3-11-14	SEC.	TWP.	RANGE	CALLED OUT	ON LOCATION	3-12-14 JOB START 24 4:00 AM	3-12-19 JOB FINISH 4:32AM
LEASE YOLK	WELL#	2~2	LOCATION ALL	22 - 22			STATE
OLD OR NEW (C			LOCATION 448	3 JCT 2 10	1905KAN	Scott	ドイ
			TACK9780 85		420 842	1-81	
CONTRACTOR Y	よりから	\		OWNER =	iame		•
HOLE SIZE 12	1/4		. 257	CEMENT	خم ا خمر ا		,
CASING SIZE	5/8-		PTH ス5フ	AMOUNTO	RDERED 17	sks com	39ncc 292
TUBING SIZE DRILL PIPE			PTH	- 861			
TOOL			PTH PTH				
PRES. MAX			NIMUM	COMMON	175	·	P 50
MEAS, LINE		SH	DE JOINT	POZMIX			3152=-
CEMENT LEFT IN	CSG.	150		GEL _	354		7/120
PERFS. DISPLACEMENT	15/2			CHLORIDE	1038	3 @ 64/00	64000
DISPLACEMENT		-		_ ASC		@	
	EQUI	PMENT		·		@	-
DIMPTRUCK	OD AD IMO	n (1)					
PUMPTRUCK (# 後 4/22)	CEMENTE	KKell	y cape 1				·
BULK TRUCK	HELPER U	naxi	76	-			
	DRIVER O	lev	(TWS)			_	
BULK TRUCK		<u></u>		-		@	
#	DRIVER			UANDI INC	189.24 Cuf	@	10021
				- HANDLING	184.24 CL+ CL22 HODX	1.08760	13 73 10
	REM	ARKS:		111000000			5.59511
niosed u	Cī					TOTAL	2.595
Mixed Co	WEN 4	_		-	SERV	ICE	
displac	ea w	لحلاجذ	00ter		- DEKT	1017	
2prt-12	7			DEPTH OF J	ОВ		25700
cement of	4:4	500	1.10.20		K CHARGE		15/225
UC IICII T	110			EXTRA FOO			
			Kellyacter Kellyacter	. MILEAGE_	MiHVEO		46200
			-HEINSCHE	MANIFOLD.	HILU bo	_@	212100
				·	KEV OU	_ @ _	401
CHARGE TO:	J'hal	1000	>616				
			*- <u></u>	•		LATOT	223825
STREET				-		IOINL	205.70
CITY	\$TA	TE	ZIP	-	DI HO e Pro	M MARIEMA POA	
					PLUG & FLOA	U EQUIPMEN	T I
							!
						_	***************************************
To: Allied Oil & O	as Service	s LLC					
You are hereby rea			enting equipment			@	
and furnish cemen						@	
			e above work was				
done to satisfactio	n and supe	rvision (of owner agent or			TOTAL	
contractor. I have	read and t	ınderstaı	id the "GENERAL"	OATEOMIS	//C 4 3		
TERMS AND CO	NDITION	S" listed	on the reverse side.	SALES TAX		22.04	
			_	TOTAL CHA	RGES 1.8	33.86	
PRINTED NAME_ SIGNATURE	COL.	ah.	D 1 = 500	_ DISCOUNT _	1,958.3	ed	
	- OFC	37 VC	- F. White	- DISCOUNT -	1,130.0	27 IF PAI	D IN 30 DAYS
		37 (0.	O.	- DISCOUNT.	•	32 Net	D IN 30 DAYS



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

INVOICE

Invoice Number: 142036

Invoice Date: Mar 22, 2014

Page:

1

Customer ID	Field Ticket #	Payment Terms Net 30 Days	
Shak	61993		
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Mar 22, 2014	4/21/14

					.,
Quantity	Item		Description	Unit Price	Amount
1.00	WELLNAME	York #2-2			
162.00	CEMENT MATERIALS	Class A Common		17.90	2,899.80
108.00	CEMENT MATERIALS	Pozmix	INIT	9.35	1,009.80
9.00	CEMENT MATERIALS	Gel	1101	23.40	210.60
67.00	CEMENT MATERIALS	Flo Seal		2.97	198.99
289.95	CEMENT SERVICE	Cubic Feet Charge		2.48	719.08
464.40	CEMENT SERVICE	Ton Mileage Charge		2.60	1,207.44
1.00	CEMENT SERVICE	Plug to Abandon 🗸	DECEMBER	1,250.00	1,250.00
40.00	CEMENT SERVICE	Pump Truck Mileage		7.70	308.00
40.00	CEMENT SERVICE	Light Vehicle Mileage		4.40	176.00
1.00	CEMENT SUPERVISOR	Kelly Gabel	MAR 3 1 2014		
	EQUIPMENT OPERATOR	Wayne McGhghy	(III)		
1.00	OPERATOR ASSISTANT	Brandon Wilkinson	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		
v					
				1-627	-17
				10000	
				10502	KW (
ALL PRICE	ES ARE NET, PAYABLE	Subtotal			7,979.71
	FOLLOWING DATE OF	Sales Tax			650.35

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

4

1,994.92

ONLY IF PAID ON OR BEFORE
Apr 16, 2014

Subtotal	7,979.71
Sales Tax	650.35
Total Invoice Amount	8,630.06
Payment/Credit Applied	
TOTAL	8,630.06



ALLIED OIL & GAS SERVICES, LLC 061993 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BO			••		SERV	ICE POINT:	
SOUTH	LAKE, TE	XAS 76	092			Cakle	ev.KC
	SEC.	TWP	PANCE	CALLED OUT	100000		
DATE 3-22-14	2	TWP.	RANGE	CALLEDOOF	ON LOCATION	JOB START	JOB FINISH 4:301/4
LEASE YORK	WELL# 7	2 ~ ~	LOCATION ALL		- N: -	COLUMN	STATE
OLD OR NEW (Cir					TOTOSPON	20044	KS
ODD OK HEIT (CIL	cie one;		HORA 280 E	40 W, 11000 R9	NAWINAN	_	
CONTRACTOR	子の井	\supset		QUAWO	5ane		
TYPE OF JOB F	TA			OWNER	Jerre		
	77/8	T.D	. 4560	CEMENT			
CASING SIZE		DE	PTH	AMOUNTO	RDERED 37	1586 10	/UDD-
TUBING SIZE			PTH	_ 470ge1	14 10-50	91	17000
DRILL PIPE			PTH			7	4,
TOOL'			PTH			أنديم	
PRES. MAX MEAS. LINE			MIMUM	COMMON_	1625/	¿@ 1790	289980
CEMENT LEFT IN	CSG	2H	DE JOINT	POZMIX _	10854	50 935	- 1009 80-
PERFS.	CSU.			GEL		@ 2350	-21000
DISPLACEMENT				CHLORIDE ASC		_@	
Z (U. D. (ODINIDICI	FOUR	08.4158100			- /	_@ _	- 99
	EQUI	PMENT		flo-se	S. (67#	@ 297	198
DIO (DECLICATION OF						-@	
PUMPTRUCK C # 423 H	EMENTE	K Kel	ch acros				
BULK TRUCK	ELPER U	Jakni	= McGhghy			@	
	SOUTED TO	0.4.4.1					
#7/84287 D	KIVER 13	7.4 no	ion wilking	X /		· ·	
	RIVER					@	
<u></u>	ACC 7 ZIC			HANDLING	289.95 Cuft	-@	71908
				MILEAGE _	11,61 ton x 40	X 2 60	-120744
	REM.	ARKS:				TOTAL	6245 71
Diggedus)						
560 225	2			•	SERVI	CE	
DO 60 155						····	
50 @ 774				DEPTH OF I			22.50
40 @ 290)		· · · · · · · · · · · · · · · · · · ·		CK CHARGE		125000
30 RH			ghkyou	EXTRA FOO		_@	
			elly of crew	MILEAGE _		@ 7 <u>70</u> _	30800
		5_	ELLY 41 CT GIL	MAINIOLD		.@	
					liky 40	@ 440	1760
CHARGETO	250012	~~~	n vo			_@	
CHARGE TO:	JACK	32 1/W	1 -				
STREET						TOTAL	173400
CITY	STAT	re	ZIP.		•		
CITT	SIAI	. E	ZIP		PLUG & FLOAT	EOUIPMEN	T
							-
				+			
				•		_@ _@	
To: Allied Oil & G	as Service	ollo			***************************************		
You are hereby req			enting equipment				
and furnish cement	er and hel	ner(e) to	acciet owner or			@	
contractor to do wo	nth ac ic lie	n (e)roq 47 hete	o aboue work was				
done to satisfaction				•		TOTAL	
contractor. I have i						TOTAL	
TERMS AND COM	יאטוגוטאי	hatelif "2	on the raysess of	SALES TAX	(If Any)		
	~~~	~ noted	Ou nie ievelse sia		7 0	79 71	_
	i hu	· 62.1	1-0-4 C	TOTAL CHA	RGES	<u>+ 1, 11</u>	
PRINTED NAME_	wy	100	10175	_ DISCOUNT	1,494.9	D IF PAIR	N 30 DAYS
		)	0 1		× 08	4.78 N	
SIGNATURE	K /	Can !	Kehen		0,10	) { , / O ] Y	<b>.</b>